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(1) 1.5(6-05x)+1 = 0.5x+4
24
9-075r+1=05x+4  4(10-0750) = 405x+4) 40-3r=2c+16 Sr=24 x ="

(2) (50 + 3x — (50 — 2x)) — (50 +3(50 — x) —2x) = 12

106
504+3x-50+2x-(50+150-3x-2x) =12 5x+5x-200=12 10x =212 xz?

3) (2(x+8)—4x+6]+3= —2{3(x—1)+5(2—x)+4)+5
2x+16—-4x+6+3=-28x—-3+10-5x+4)+5 -2x+25= -2(-2x+11)+5
—2x+25=4x-22+5 6x =42 x=7

5-2x 3x+2

10 5

10><4x—10[5102x]:10[3x;2J 40x-5+2r=6x+4 361 =9 x:i

(4) 4x -

2-3x) 2x+1
(5)3x—2(x— x]= *
4 2
2-3 2
2><3x—2><2(x— x)=2[x2+1] 6x—4dx+2-3x=2x+1 3x=1 x:%
+1 1
(6) 2[x —x) ~05v = 02(5v~2) - o
1
41-20-05x=x-04-"x  -15r+1=05r-04 10(-15x+1) = 10057 - 04)

7
-15x+10 =5x -4 20x = 14 x:E

(1)x=% (Z)le—(5)6 B)x =7
(@) x= 5) x = - 6) x=
x—4 X = X =




